1. HPAHP ABCD oA F tizbd e w4< O = sk, /ACB =
30°, «CBD = 15° tx7 &k of], LAOB 2] 7|2

A D
0
= o
B 5 30

O 25° @ 30° ® 35° @ 40° @45°

AB//CD ©]|2& /ADO = /DBC = 15°, /DAO = /OCB =
30°
/AOB = /DAO + /ADO = 15° + 30° = 45° ©|t}.




HPAHAY ABCD oA /A : /B =
g, zx=( )°elet (
Qe 7

D 15 @ 20 ® 25

/A = 180° x g — 150°
Sx=180°-150°=30°
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D x=4, y=140 @ x=4,y=45
® x=5, y=40 @x=5,y=45

® x=10, y=145

x=CD=5(cm)O|E2 x=5
AB//CDo|2& /BAC = /DCA
sy=45
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7. o2 a8 ZE AABCOA H 1E UAlo]1, /IBC = 35°Y o,
(BIC 9] 2719

A

B&AsS C

@® 108° @ 109° @110° @ 111° ® 112°

B ~

A 171 A28 A o] 5B wHo|B& /IBC = /ABI = 35°
0|1, /ABC = 70°°]t}.

AABC7} o] 5 AtzbgolB 2 JABC = /ACB = 70°0|t}.
/A =180°—-70°-70° = 40°°]t}.

1
A 17} AABC O] YA Y o, /BIC = 90° + §AA°]E

1 1
(BIC =90° + §AA:90°+ 3 x40°=110°




@® AD =BC
® BO =DO

® /ABC + /BCD = 180°

AD //BC ©|2& /ADB = /CBD

(@)AADB = /ACB

@ /BAC = /ACD
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10.

o2 1" o)A oABCD = HaAHAF oIt} o] A A,B,C,D ¢}
2 A | AFo] 9] A7t ZF2E 8cm, 4em, 12cm, 8cm € W, DABCD 9
Holg &2 729

oABCD
= (DAEGD + oDGHC) - (DAEFB + oBFHC)

1 1
:{(8+12)x9x§+(8+12)x2x§}

—{(4+8)x2x%+(8+4)x9x%}

= (90 + 20) — (12 + 54)
= 44(cm?)




DO °Jtt.

3 7o) Z7te) WA
@ /A =/D=90°
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X (2x1) = 48(7t
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@O AAPQ = AACQ

@
® (PAQ = /CAQ @pra-ac-qB
® (APQ =90°

< HO 2
AACQ, AP = AC, (PAQ = LCAQ, /APQ =




15. 2C = 90° 91 ZFoS M ALz ABC oA /B o] o] SR 40| A 9
s A D, D olA AB of Wl 4419 Be B 2 8 o BO
AD = b 2t 519 AB 9] 20| q, b 2 ERfH?
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B “~--a---7C
@ a-b @)2a-b ® 2b-a
@ a+b ® %aer

B

AC=BCol2& DC=a-b
ABCD = ABED (RHAE-%) |1 AAED 7} 3 Zto| 542 %
o ey
DC =DE = AE, BC = BE
AB=BE+EA=a+a-b
=2a-b

o&

~AB=2a-b




